



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{2}\right) \times \frac{1}{5} + \left(\frac{3}{2} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{2} - \frac{1}{6}\right) =$$

$$\left(3 - \frac{1}{3}\right)^2 - \frac{1}{6} \times 2^2 - \frac{3}{4} =$$

$$\left(\frac{1}{4} - \left(\frac{1}{6}\right)^2\right) \times \frac{3}{5} - \left(\frac{3}{4} - \frac{1}{3}\right)^2 =$$

$$\left(5 - \frac{2}{3}\right)^2 + \frac{1}{2} \times 3^2 - \frac{1}{4} =$$

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{4} - \frac{1}{3}\right) =$$

$$\left(\frac{1}{3} - \left(\frac{3}{4}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{2} - \frac{2}{5}\right)^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{2} - \frac{1}{4}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{5} + \frac{1}{2}\right) =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$\left(\left(\frac{3}{5}\right)^2 - \frac{3}{2}\right) \times \frac{1}{5} + \left(\frac{3}{2} - \frac{1}{2}\right)^2 = \frac{193}{250}$$

$$\left(\frac{1}{4} - \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} - \left(\frac{1}{3} + \frac{1}{4}\right)^2 = \left(-\frac{1063}{3600}\right)$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 - \frac{1}{5}\left(\frac{1}{2} - \frac{1}{6}\right) = \frac{14}{15}$$

$$\left(3 - \frac{1}{3}\right)^2 - \frac{1}{6} \times 2^2 - \frac{3}{4} = \frac{205}{36} = 5\frac{25}{36}$$

$$\left(\frac{1}{4} - \left(\frac{1}{6}\right)^2\right) \times \frac{3}{5} - \left(\frac{3}{4} - \frac{1}{3}\right)^2 = \left(-\frac{29}{720}\right)$$

$$\left(5 - \frac{2}{3}\right)^2 + \frac{1}{2} \times 3^2 - \frac{1}{4} = \frac{829}{36} = 23\frac{1}{36}$$

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 - \frac{1}{4}\left(\frac{1}{4} - \frac{1}{3}\right) = \frac{7}{144}$$

$$\left(\frac{1}{3} - \left(\frac{3}{4}\right)^2\right) \times \frac{3}{4} - \left(\frac{3}{2} - \frac{2}{5}\right)^2 = \left(-\frac{2211}{1600}\right) = \left(-1\frac{611}{1600}\right)$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{6}\right) \times \frac{3}{2} + \left(\frac{1}{2} - \frac{1}{4}\right)^2 = \frac{149}{400}$$

$$\left(\frac{1}{2} + \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{5} + \frac{1}{2}\right) = \frac{81}{400}$$